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Thank you for taking part in marking the scripts. It is of enormous benefit to young students to be able to take part in these
competitions, tackling much harder problems than they normally get, and be abie to have them marked by physicists who know
what they are doing. It is because of your expertise in the subject that it is possible to do this. Exams marked by non-specialists
are more of a tick box exercise, which is of little value in stretching students to grasp the subject at a deeper level. The layout of
the work may be annoying. That is 2 national problem and we are not going to change that easily, although we do our best, as

do the teachers of these students.

s We need ACCURACY and CONSISTENCY. Care is required. The mark scheme has marks allocated to make the
marking easier. The mark allocation is different to the paper. USE THE MARK SCHEME ALLOCATIONS.
¢ You do not need to spend time working through laborious arithmetic calculations. The marks are set out for

steps achieved.

s Positive marking is the aim. Marks should be awarded for good physics, even if the reasoning does not follow
the mark scheme. Alternative routes to the answers can be allowed.

¢ Significant figures. This is not a test of significant figures. A leeway of 11 sig. fig. is generally allowed, but we are
not being strict at all in penalising for sig figs. If the published solution gives 3, allow 2 or 4 in the students
answer, or even 1 after a long numerical calculation. However, unless they have written dewn all of the figures
on their calculator display, there are no questions this year that are likely to invoke a sig fig penalty.

¢ Some answers can be left in fractional form.

¢ Units should be given for the final answer. It may be that the unit is given a little earlier and that it does not
appear an the very last line. Allowance may be made if it is clear that the unit has been used a line or two earlier.

o |f the units are a required part of the answer for the mark, they must be there.

» Error carried forward (ecf) is allowed provided ridiculous results do not start appearing. A mark is lost for the
initial mistake, but then they can carry on (if it is possible) to gain some of the subsequent marks for the next
one or two steps only. Just make a decision as to whether they should have the single mark or not.

s You are not required to spend time deciphering scribble.

e There may be a lot of working for the answer. If they are almost there, you may give the mark even if there is a
numerical mistake in the last line. Use your judgement. The ticks for the marks are not exact i.e. they are for the
idea and almost getting there.

¢  Full marks are awarded for the correct answer, provided that there is some supporting working and it is not a
“show that” question. Look out for suspicious results with insignificant working.

s You must follow the mark scheme so that we mark CONSISTENTLY. Do not make your own independent mark
scheme.

+  Avoid relying on your memory for the mark allocation. You need the mark scheme open beside you.

If you need advice, email Robin Hughes
You can send a phone photo or just ask a question.

. 1 will respond promptly.

1. Do not mix up students’ names when entering marks.

2. Add up the marks correctly. Check your addition. For each little section, note the total in a circle, as in the
mark scheme. Then note the total for the page at the bottom in two parallel lines to distinguish it.

3. Do not leave “pdf papers” in any unsecured place. They are confidential.

4. You can write on the answers if it helps you keep track. Ticks are for marks so do not tick everything. Ticks
are counted up when checking.

5. Updates to the mark scheme are inevitable and will be sent out. If you see a mistake, email me.
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